
                                      
 

Adding two whole tens and two 1-digit numbers 
Grade 3 Addition Worksheet 
 
Find the sum: 

 

1) 80 + 30 + 3 + 9 = ______ 2) 70 + 70 + 6 + 4 = ______ 

3) 60 + 40 + 5 + 9 = ______ 4) 30 + 6 + 7 + 70 = ______ 

5) 40 + 20 + 4 + 2 = ______ 6) 70 + 20 + 8 + 4 = ______ 

7) 60 + 9 + 6 + 40 = ______ 8) 50 + 20 + 8 + 7 = ______ 

9) 9 + 60 + 2 + 40 = ______ 10) 7 + 60 + 2 + 60 = ______ 

11) 60 + 6 + 6 + 20 = ______ 12) 7 + 90 + 3 + 20 = ______ 

13) 2 + 6 + 50 + 40 = ______ 14) 8 + 9 + 50 + 40 = ______ 

15) 40 + 2 + 7 + 90 = ______ 16) 10 + 3 + 3 + 80 = ______ 
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Answers 
 

1) 122 2) 150 

3) 114 4) 113 

5) 66 6) 102 

7) 115 8) 85 

9) 111 10) 129 

11) 92 12) 120 

13) 98 14) 107 

15) 139 16) 96 
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